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The National Strategies ( Primary
Overcoming barriers level 4-5

Can I use an appropriate non-calculator method for dividing a three-digit by a two-digit number?

Using factors 





Name:
Work out 504 ÷ 14 using a written method below:


Sam has found a useful method to divide by some two-digit numbers. 
He says that since 14 = 2 × 7, to divide by 14 you can divide by 2 then by 7. Try Sam’s method:


Did you get the same answer using Sam’s method? 
Find an efficient way to work out these division calculations

Compare your methods with a friend. Who found the most efficient methods?










860 ÷ 20





560 ÷ 16














504 ÷ 2 = 


Now divide your answer by 7:
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